=
=

1500

I
1000

I
500

T T T I
0'G- §'G- 0'9- G'9-
1daalalu] Jo e1aqg

T I
00 S0-
uoljelpel Jo e1aq



0.5

0.0

-0.5

-1.0

500

1000

1500




-6.0 -5.5 -5.0 -4.5 -4.0

-6.5

500

1000

1500




0.5

0.0

-0.5

-1.0

500

1000

1500




1500

1000

—_— =
=

T T T T T T T
§'G- 09- G'9- 0'L- S0 00 S0-
1daoialu] Jo e18q uoneipei Jo e1aq

500




-0.5 0.0 0.5

-1.0

-1.5

500

1000

1500







-0.5 0.0 0.5

-1.0

-1.5

500

1000

1500




1500

I
1000

I
500

T T
§'G- 0'9-
1daalalu] Jo e1aqg

S0

T
00
uonelpel Jo elaq



0.5

0.0

-0.5

500

1000

1500




-6.5 -6.0 -5.5 -5.0 -4.5

-7.0

500

1000

1500




0.5

0.0

-0.5

500

1000

1500




—

=
=

|
.
=

1500

I
1000

I
500

T
Sv-

T T T I
0'S- G'G- 0'9- §'9-
1daalalu] Jo e1aqg

T
0L-

T
00
uonelpel Jo elaq






-6.5 -6.0 -5.5 -5.0 -4.5

-7.0

500

1000

1500







Density

0.0005 0.0010 0.0015 0.0020

0.0000

Predictive Density of Survival Time

Percent survived: O
Percent survived: O

500

I
1000

N =3 Bandwidth = 125.3

1500




Density

0.002 0.004 0.006 0.008

0.000

Predictive Density of Survival Time

Percent survived: O
Percent survived: O

500

I
1000

N =3 Bandwidth = 34.08

1500




Density

0.0005 0.0010 0.0015 0.0020

0.0000

Predictive Density of Survival Time

Percent survived: O
Percent survived: O

500

I
1000

N =3 Bandwidth = 118.7

1500




Density

0.0000 0.0002 0.0004 0.0006 0.0008 0.0010 0.0012

Predictive Density of Survival Time

Percent survived: O
Percent survived: O

500

I
1000

N =3 Bandwidth = 220

1500




